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of| (A) (B-A)*100/A
A (x-) (x-) (x-) (x-) (x-)
1,321,000 4,936,000 3,052,946 71,883,054 A38
2 4] (x-) (x-) (x-) (x-) (x-)
1,321,000 4,936,000 3,051,946 71,884,054 A38
(x-) (x-) (x-) (x-) (x-)
3 H
Al 1,000 1,000
(] oA @F LY 2 A=A
=2 Al E Ao
0 HAM| = 2,741,94644
2.741,946,000¢
A O zAH] . = 290,00044
290,000,000¢
O A AH] = 20,0004
20,000,000%
1 u O Al A F-ujjn] = 1.00044
Al 1.000,0009
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T i Al (~2014) 2015 2016 2017 o] | H]x
A (x-) (x-) (x-) (x-) (x-)
145,390 125,482 4,936 3,053 11,919
A A (x-) (x-) (x-) (x-) (x-)
145,388 125,482 4,936 3,052 11,918
(x-) (x-) (x-) (x-) (x-)
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(] AtgiLhg
o 4 Z o 28T s 4239 A Ay
F R 491,202m (EAEA 491,202m, 2454 398,000m)
3717k 1 2001 ~ 20209
AGHE ¢ EXEA B Fd=A
EA34] ¢ 145,390 WHA (FAIFH)
] AIHAHE (FXIAL L] AT
09 X :EEF AE A159-2 ¢ 18X
O AYTFE 1 6,317m
O AFHE @ EXEA 3 Fd=A4
-EXAHA 6,317m, TLZA(3,070m, 153 HEAA])
O &QdA © 3,053k
- HAH] 2,742, AAM] 20, A 290, A|AHFEHH] 1
L] FrE<
0 1977. 7.9 : EAAZANA(FYE) ZA
0 1993. 2. 10 : FTH=2AAE FHEFH=E) (AaLA A1993-28%)
01996. 7. 15 : AGAIZA7T (HZx) (E5F3A] A1996-39%)
01996 ~ 2010 : EXAXA (263,714m)
0 2009. 7. 23  FHA=2AAR 8 (HA)
0 2009. 10.15 : F2AA (AAA, AA)
02011. 6.28 : EXAXA (17,296m)
02012. 10.30 : BEAXHEA (2,330m)
02012. 11. 1 : Q244" s (H7%) (A4 A2012-291%)
02013. 3. 14 : APFAEA7FHA) (=534 A2013-21%)
0 2013. 9.25 : EXHA (15,327m)
02014. 5.27 : EAXRA (1,302m)
02015. 10 ~ : EXHA #88 (11,105m)
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4|1 At Y & 1}
0 A2 39 FTAY
20139 % O EXHA 15,327m
20149 % O EXHA 1.302m
20154Y% O BEXRA 11,106m (RAE HA0lY)
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O 54 ZAL=E Qsle] AT FRIE9 AAS o7t 9 FA T2 Ay
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9012 (x-) (x-) (x-) (x-) (x-) (x-) (x-)
3,142,051 0 0 3,142,051 3,105,828 36,223 0
9013 (x-) (x-) (x-) (x-) (x-) (x-) (x-)
3,162,289 36,223 0 3,198,512 3,122,600 75,527 385
9014 (x-) (x-) (x-) (x-) (x-) (x-) (x-)
1,321,000 75,527 0 1,396,527 1,327,231 0 69,296
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